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Reasoning

Directions {Q. 1-5}: In each of the following questions, twe
conclusions | and Il are given after a statement. The
conclusions show the relationship between some of the
elements of the statement. Select the appropriate answer
after studying the relationship between the given
elements. Mark your answer as:

{1} if only conclusion Il is true

{2} if only conclusian |is true

{3) if both the conclusions | and |l are true
{4} if either conclusion | or |l is true

{5) if neither conclusion | nor Il is true

1. Siatement:
ALBELC=D2E>F B>

Concluslons:
. DxA
I, C=>F

2. Statement:
P>Q2R=8S<T<U,V<S<W

Conclusions:
. T2V
I. g>U

3. Statement:
A<B<C>=D2E>F

Concluslons:
By s E
. C=»F

4. Statement:
S2L21=P<E<RL<Q

Conclusions:
l. L>R
I E£Q

5 Statement:
AzBzC=D<E<F, G=DLz2H

Conclusions:
I. H<A
. H=A

Directlons {Q. 6-10): Study the Information carefully to
answer the following guestions.

A group of eight friends P, Q, R, S, W, X, Y and Z from eight
different places Odisha, Delhi, Lakshadweep, Chandigarh,
Surat, Mahadewa, Rampur and Kabul (naol necessary in the
same order) go for a trip. They arrange for a round table and
sit facing the centre.

Y is sitting third to the right of W. The person from Delhi is
silling (o the immediate right of W, who is not from Odisha. ¢

is sitting fourth to the right of 2. W s not sitting with eilher §
or Z. X belongs to Chandigarh and is sitting third to the right
of the friend who belongs to Delhi, The person from
Mahadewa is sitting second to the left of the persan who
pelongs to Chandigarh. W is sitting second to the right of the
friend from Rampur. P belongs to | akshadween and is sitting
between X and Z. The one who belongs to Surat is sitting
second to the right to the person from Lakshadweep. R is
sitting third to the left of X.

6. Who among the following belongs to Odisha?

(1) P 2 X
310 4y
(5) R

7. Which of the foilowing is the correct representation
of the position of P with respect to Q7
{1) Third to the right (2} Third to the left
{3} Fifth to the right {4} Second to the left
(5} Second to the right

8. When counted In antl-clockwise direction from X,
what is the total number of frlends sltting hetween X

and Y?

(1) 2 (20
{3) 5 (4) 6
51

9. Which of the foilowing combinations is not correct?
(1) P - Lakshadweep {2} Z - Odisha
{3y W Kabul {4) X Chandigarh
(5) Q - Mahadewa

10. Which of the following statements is true?

{1} P is sitting second to the right of the friend from
Surat.

(2) W is silling second lo Lhe leflt of the friend from
Mahadewa.

{3) S is sitting facing the friend from Odisha.

{4) Friend from Surat is sitting to the immediate left of
the friend fram Rampur.

{5) There are two friends sitting between the friends
from Kabut and Delhi.

Diractions (@, 11-15): In each of the following gquestions, a
few statements are followed by two conclusions, | and Il.
You have to consider that the statements given are true
Irrespective of the fact that they are related to each other
In the real world and also judge whether the conclusions
legically foliow or not. Mark answer:

(1) if only conclusion | foliows.

{2} if only conclusion Il follows.

{3} if either conclusion | or B follows.

{4} if neither conclusion | nor Il foliows.

{5} If both conclusions | and 1l follow.



11. Statements: .
All books are pencils.
Some pencils are pens.
All pens are tables.

Conclusions:
f. All pans being pencils is a possibility.
1. Al books being tables is a possibility.

12, Statements:
Some pentagons are hexagons.
Some guadrilaterals are hexagons.
No sguare is a quadrilateral.

Conclusions:
1. All pentagons being squares is a possibility.
[l. Some hexagons not being quadrilaterals is &
possibility,
13. Statements:
All bags are trolieys.
Some trolleys are briefcases.
All briefcases are luggage.

Congclusions:
. Some trolleys are not briefcases.
Il. Some luggage are bags.

14, Statements:
All chains are tables.
Some chains are furniture.

Conclusions;
I. Al furniture being tables is a possibility.
(. No furniture is table.

15. Statements:
Some glasses are bottles.
Some jugs are bottles.
No cup is jug.

Concluslons:
. Some bottles are not cups.
It All bottles being cups is @ possibility.

Directions (. 16-18): Study the Information given below
vary carefully to answer these questions.

R is at 10 m to the east of P. Pis 20 m to the north of Q. S is
at30mtothewestof R.Tisal 7 mtothe eastof S, Visat 7
m to the west of U, which is at 10 m to the south of T.

16. What is the distance between T and P?
{(1y23m (2) 13 m
{3) 10 m 4 7m
{5) None of the above

17. In which direction s U with respect to Q located?
{1} North-West {2) South-West

{3) North-East {4) South-East
(5) West

18. What Is the distance hetwaen P and 57
{113 m (2} Tm
{(20m {4) 30m
{(5)23m

Directions (. 19-23)x Read the information glven below
very carefuily to answer the followlng guestions:

Eight girls A, B, C, D, P, Q, Rand 3 are standing in such a way
that four of them are faging north and rest are facing south.

P and R are facing north and P is standing third to the right of
R. 5 is at one of the corners and facing south. C is third to the
left of § and facing in the same direction as 5. @ and D are
sitting together and facing in the same direction. B is sitting
between R and C and facing to the south. A'is sitting to the
immediate eft of Q, who is nol at any corner,

19. Who among the following are facing north?

{1 R 2y P
3)Q 4D
(5 All of them

20. Which of the following Is correct on the basls of the
glven arrangement?
{1) A is standing to the immediate left of P.
{2) Q is standing third to the right of C.
{3) There are two glris standing at the right of A.
(4) A and S are facing in the same direction.
{5) None of the above

21. What is the position of P with respect to B?
{1} Second to the right {2) Third to the right
{3} Second 1o the left (4] Third to the left
{5} At immediate left

22. Who among the followlng is standing between P and

Q7

(1) R (27 A
(218 #rC

{8 D

23, Who is standing third to the right of A?

(1 C (2) P
3R (4) B

(o] P

Directions {Q. 24-26)% Read the following infoermation to
answer the questions glven beiow,

B is the father of A and husband of C. A and D are sisters. D is
the wife of E. F is the mather of C and G is the only son of E.

24. How Is A related to G7

{1 Uncle {2) Aunt
{3y Mother {4} Sister
(5} Brother
25, How s F related te B?
{1) Mother {2} Father
{3} Sister {4} Mother-in-law

{5} Fatherin-law

26. How many daughters does A have?
11 {2y 2
(3) 0 {&) None of these
(5) Cannct be determinad

Directions (Q. 27-29): Answer the followlng guestions on
the basls of the information given below.

In a group of 6 people. A, B, P, Q, R and 3, no two persons
have the same weight, A is lighter than only one person in the
group. R is heavier than two persons and lighter than three of
the group. B is not the lightest and none weighs between B
and S. A is heavier than Q. The weight of A is 70 kg and that
of Bis B0 kg.

27. What may be the welght of P?

(1) 7T0kg (2) 65 kg
(3) 6O kg (4) 72 kg
(5) 55 kg
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28. Which of the following combinations may be true for
the person having the least welght?

(1) S - 55 kg
(2) R - 45 kg
(3) S - 45 kg
t4) R - 60 kg
{5} S - 50 kg

29, if the sum of weights of @ and R is 125 kg, then what
will be the weights of Q and R, respectively?
{1) 80 kg and 45 kg
{2) 45 kg and 80 kg
(3) 80 kg and 85 4g
{4) B5 kg and 60 ng
(&) 75 kg and 50 kg

Dlrections {Q. 30-35): Read the information given below
very carefully to answer the following questions.

in an apartment, seven peopie A, B, C, P, Q, R and S live on
seven floors, with each having a car of different colour - Red,
Green. EBlue. Brown, Golden, Pink and Yellow, but Aot
necessarily in the same arder. The ground floor is numbered
as 1, first fioor as 2, and so on till the sixth floor, which is
numbered as 7.

P lives below the person having a brown car. S lives on an
aven-numbered floor, but not on floor number 2. The one with
pink-coloured car lives on the ground floor. There are four
floors between the floors on which the peaple having pink-
and red-coloured cars live. P has red-coloured car. A lives on
an pdd-numbered Moor, but not on floor number 3 or 7. B
lives between the floors on which R and Q live. R b &
yellow-coloured car. The person having greer-coloured —ar
lives botween the floors of persons having blue and yei ow
coloured cars.
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30. What is the colour of the car that R has?

(1) Yellow {2) Golden
{3) Green {4 Pink
{5) Biug

31. Which of the foliowing combinations is true?
{1y P - Pink {2y C - Red
{3) B - Golden {4} A - Green
{5) Q - Yeliow

32. Which of the following palrs shows something related
to floor numbers L and 77
(1) CandB
{3) Pand
{58} Red and Pink

33. Which of the following statements is true with
respect to the given combinations?
{1} Cis on floor number 1 and has a pink-coloured car.
(2y B has a golden-coloured car and lives on loor

{2y Brown and Pinic
{4} Red and Golden

numhber 3.

{3} Q lives vn the ground flogr and has a pink-coloured
car.

{4) R has a yclow-coloured car and lives on floor
number 3.

{5} Both (3 and (4}
24. Who of the following has a red-colaured car?

(1 A 2] B
3P 4 Q
{5} C

35. Who lives on floor number 5?
(1) A {2) B
{3 P (4} Q
(5 R

Quantitative Aptitude

Directions (. 36-40): Studv e - formation given below to
answer the followlng questiuns.

in a village, three farmers A, B and C planted carrots in their
respsective fields in three consecutive years 2014, 2015 and
2016, The table given beluow shows the total guantity of
potatoes as welt as that of gnod-quality potatoes in guintals.

2013 250 225 BU0 TED 440 425
2018 380 32b 623 580 500 460
2016 340 300 590 340 G2 675

36. How many potatoes (in quintals) ware of low quality
for A in all the three years?

{1) 5O {2y B5
g_} igo (4) 120
]

37. Poorquality potatoes of farmer B are what
percentage of good-gquality potatoes of farmer €7

(1) 8.65% (2} 6.85%
(3) 12.5% 4) 15%
(5) 7.5% @

38. What was the average of good-quality potatoes (in
quintals) obtained in 20157

(1] 450 (2) 325
(3] 455 (4) 480
{5 460

39. Total potatoes obtained by farmer A is approximately
what percentage of total potatoes obtalned by B and
C in all the three years?

{1) 20% (2) 25%
(3) 10% {4) 50%
(5) 75%

40. Total potatoes obtained in 2014 are what percentage
of the totai potatoes obtained in 2015 and 20167

(1} 50% (2) 45%
(3} 55% (4} 48%
(5} 50%

41. A number is selected randomly from 1 to 100. What
will he the probability that the number is divisibie

by 97

9 11
E o R
T, ? 100
il 1
3= 4y =
()3 [)9

{5) None of the abave
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42.

45.

20 men can complete a piece of work In 25 days. 40
women can complete the same plece of work in 25
days. In how many days, can 10 men and 20 women
somplete the same plece of work?

(1) 15 days {2) 35 days
{3) 30 days (4] 20 days
(&) 25 days

The length and breadth of a rectangle are in the ratio
of 8 : 5. The perimeter of the rectangle Is 10 units
more than the perimster of a square. The ratio of the
slde length of the square to the length of the
roctangle iz 4 : 3. What Is the breadth of the
rectangle?

{1} 10 units (2) 12 units
{3} 25 units (4 20 units
{3} 15 units

P and Q Invested some money on simple interest of
2% and %%, respectively, for 2 years. The sum of
maoney both invested was ¥ 14,000. If both of them
earned the same profit, then how much money did P
invest?

{1) ¥ 6000

{3) T 10000

{5} None of the above

{2} T 8000
{4) T 4000

Two tralns of equal length pass each other In 10
seconds when travelling in opposite diractions and in
1 minute 10 seconds when travelling in the same
direction, What Is the ratlo of the speed of the faster
train to the slower traln?

{1y 8:8

2) 5.8

(3)6:8

4y 8:6

5y Nene of the above

Directions {Q. 46-50) Find the most appropriate optlon
from the given alternatives that can replace '?'.

48,

47.

49.

BO.

2,9,26,53,7
(1) 106

(3) 86

{5} 90

9, 27, 54, 162, 7, 972
{1) 324
(3) 450
(5) 750

4,10,32,130, ?, 3914
{1y 750

(3) 1500

{5) 2420

2,6,15,64,315, 7

(1) 1982

{2) 1896

{3y B30

(4 1260

{5} None of the above

1,2,6,15,7,56

{2) 96
4) 95

(2) 329
{4y 550

i2) 1000
{4} 852

{1} 30
(3) 31
(5) 45

2y 35
(4 40

Directions {Q. 51-55):. Read the following graph very
carefully to answer tha followlng questlons.

Pricc {in )

Fiv

60 - A

30 il

40
30
20

o i

2011 2012 2013 2014 2015 2016

Here, the vertical axis shows the amount (in ¥) per kilegram
of rice A and B. The horizontal axis shows the years in which
prices were noted, Le. in 2011, 2012, 2013, 2014, 2015

and

B51.

52.

55.

2016.

The price of rice of typs B per kilogram Is what
percentage more than that of type A in 20117

(1) 10% (2} 18%

{3) 110% 4y 115%

{5) 25%

If a shopkeeper buys hoth types of rice In equal
amount In 2014 and sells both at the rate of the
costlier one, then what will be the appreximate profit
percentage for the shopkeeper?

{1] 10% {12} 3%

(3} 5% (4 4%

{5 7.5%

What Is the ratio of the sum of the prices of type A
rice in 2011 and 2015 to that In 2014 and 20167

(1) 19:23 (2) 23:19

(3)4:19 {4) 4:23

(5) None of the above

In how many years was the price of type A per
kilogram of rice more than that of type B per
kilogram?

11 (2) 2

310 (4) 3

{5} 4

What is the difference between the average rate of
typs A and type B in all the six years?

(1) T 20

{2) T BO

{31745

A z0

{5) Cannct be determined

Directions {Q. 56-60): In each of the following gquestions,

two

eguations I and |1 are glven. Solve the equations and

mark the answers!

(1)
(2
(3
(4)
(%)

ifx>y

iFx>y

fray

ifx<y

if either x = v or when relationship between x and y
cannot be established.




56.

l. 3x2-11x+6=0

Il y2-9y+20=0
B7.

I x2-25=0

I y2-11y+30=0
BR.

I 25x2+5x-2=0

il 35y2+9y-2=0
59.

l. x2-5x=0Q

I y{&-y1=0
60.

l. 25x7 - 2Bx+6=0
I, 49y2 4-=0

61. In an examinatlon, a student who gets 20% of the
maximum marks fails by 5 marks. Another student
who scores 30% of the maximum marks gets 20
marks more than the passing marks. The necessary
percentage reguired for passing is:

{1) 32% {2y 23%
{3y 22% {4 20%
(5) 25%

62. A shopkeeper marks the price of a product by 30%
and allows a discount of 20% on It. if he cheats by
weighing 900 grams for 1 kilogram, then what is his

net profit percentage?

[1) 17.56% {2} 15.56%
[3) 22.56% {4 25%
{5y 20%

63. In a contairer filled with 72 litres of milk, one-thisd of
the milk is replaced with water. One-third of the new
mixture is again replaced with water. What is the
ratio of water to milk in the new mixture?

(1523 (2)1:4
{3) 1:3 {4) 4:3
{5) 3:4

64. Three frlends P, Q and R Invested in a scheme in the
ratio of 2: 3 : 4. After six months, P added half of the
money he invested and O added one-third of money.
R removed onefourth of money after six months.
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What is the profit ratio earned by P, Q and R after a
year?

{1y 21:15:21

{2)15:21:21

(3)15:21:23

{4)15:21:43

{b) None of the abave

65. The average weight of a class of 30 students Is 50 kg.
in this process, 55 kg was misread as 65 kg and 45
kg was misread as 35 kg, What is the actual average
weight of the class?

{1) 50 kg {2} 52 kg
{3) 50 kg {4) 48 kg
{5) None of the above

Directions (Q. 66-70): In the following questions, choose
an appropriate optlon from the glven altematives that ¢an
replace '?'.

66. 56.5% of 240 + 75.25% of 450 = ?% of 280 + 337.725

{1) 50.25 (2) 48.75
(3) 45.75 {4) 40.25
{5) 75.75
21

67. \!0.B4x0.810f?£=1
(1) 7.2 {2) 210
(@12 (4) 0.21
(51 2.1

.. W

?  175.56

(1) 226.25 (2) 235.25
(31 325.25 (4) 425.25
{5) 220

69. (326% of 580) + 1245 =7
ki ) (2y 15
{3} 5.8 (4} 8.5
{5} 1.25

70. 12.25% of 123 + 22.5% of 321 =7
(1) 100 (2y 12,2225
(3) 32.2548 {4y 80.2952
(5) 87.2925

English Language

Directlons {Q. 71-77): Read the following passage
carefully and answer the guestions glven below It.

The GST is a Value Added Tax (VAT) proposed to be a
comprehensive indirect tax levied on manufacture, sale and
consumption of goods as well as services at the national
level. It will replace ali the indirect taxes levied on goods and
services by the Indian central and state governments. It is
aimed at being comprehensive for most of the goods and
services.

An empowered committee was set up by the Atal Bihari
Vajpayee administration in 2000 to streamline the GST
model to be adopted and 10 develop the reguired back-end
infrastructure that would be needed for its implementation. In
his budget speech on 28 February, 2006, P. Chigambaram,
the then Finance Minister, announced the target date for the

imptementation of GST to be 1 April, 2010 and formed
another empowered committee of State Finance Ministers to
design the road map. The committee submitted its report to
the government in Aprii 2008 and released its First
Discusston Paper on GST in India in 200S. Since the groposal
involved refarm/restructuring of not only indirect taxes levied
by the Centre bul also the Slates, the responsibility of
preparing a Design and Road Map for the implementation of
GST was assigned to the Empowered Committee of State
Finange Ministers (ECYL In April 2008, the EC submitted a
report titled "A Model and Road Map for Goods and Services
Tax (GST) in India", cantaining broad recommendaticns about
the structure and desigh of G5T. In response to the report,
the Department of Revenute made some suggestions to be
incorporated in the design and structure of the proposed GST
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bill. Based on the inputs from the Gol and States, the EC
released its First Discussion Paper an Goods and Services
Tax in India on 10 November, 2009 with the chjective of
generating a debate and obtaining inputs from all the
stakeholders.

A dual GST module for the country has been proposed hy the
EC. This dual GST model has been accepted by the centre,
Under this model, GST has two components, viz. the Central
GST 1o he levied and collected by the Centre and the State
GST to be levied and collected by the respective States.
Certral excise duty, additional excise duty, Service Tax,
additional duty of customs {equivalent to excise], State VAT,
entertainment tax, taxes on lotteries, betting and gambling
and entry tax (nat levied by local bodies) would he subsumed
within GST. Other taxes which will be subsumed with GST are
Octroi, entry tax and fuxury tax, thus making it a singie
indirect tax in India.

In grder to take the GST-related work further, a Joint Working
Group consisting of officers from central as well as state
governments was constituted. This was further trifurcated
inte three sub-working groups 1o wark separately on draft
legislation required far GST, process/forms 10 be followed in
GST regime and T infrastructure development needed for the
smooth functioning of the proposed GST. In addition, an
Empowcred Group for the devclopment of IT systems
required far the Goods and Services Tax regime has heen set
up under the chairmanship of Or. Nandan Nilekani.

71. Why was the task of preparing the design and road
map for the implementation of GST assigned to the
committee of state finance ministers?

{1} it felt convenient to share the workioad,

{2} The commities had powerful people who insistad to
be given this task.

{3) The restructuring had to he done of indirect tax
levied by the state and the centre.

{4} Atal Bihari Vajpayee administration had proposed it
in the year 2000,

{5) None of these

72. What was the objective of releasimg the first
discussion paper?
{A) To generate adebate
{B} To obtain inputs
{C) To encourage the invelvement of general public

{1) Only A (2) Only B
{3} Only C (4) Only B and C
{5) Only Aand B

73. What was the first discussion papsr about?
{1} State VAT
{2} Goods and Services Tax
{3} Design and Road Map
{4} Reforming the Indirect Tax
(9} Smooth functicning of GST

74. Which of the foilowing taxes will not be subsumed in
GST?
{1} Entry tax
{2} Service tax
{3} Luxury tax
{47 Medical tax
{5) Tax on lottery

75. Which are the components of GST7
(1) IT infrastructure development
(2) Central GST and State GST
(3} Three joint working groups
(4} Discussion panels for different taxes
'5) Design and road map of GST

76. What was the purpose of making the loint Working
Group?
{A) To take the GST-retated work further
{B) To help people follow GST
{€) To bring out the shortcomings of the plan
(1) Only A {2} OnlyB
13) Only & {4) Only Aand C
(5) AllA, Band C

77. Which of the folowing words can best describe GST?

(1) In-depth {2} Detailed
(3) Infinite {4}y Comprehensive
(B Encireling

Directlons (Q. 78-B2) Rearrange the following six

sentenees (1), (2), (3), (4}, (5) and (8) in a proper seguence

to form a meaningful paragraph and then answer the

guestions given below.

(1) But then he would ieave it there & few hours and then,
maore often than not, spit it cut again.

{21 However, he had soon got used to the mess.

{31 Ali the things that were to be discarded found their way
10 his rooim:

{4) Gregor had almost cntirely stopped eating.

{51 At first he thought it was distress at the state of his room
that stopped him eating.

{6) Only if he happened to find himseif next to the food that
had heen prepared for him, he might take some of it into
his mauth.

78. Which of the following should ke the FIRST sentence
of the glven paragraph?

(1) 3 (2) 5
32 {4 1
(&) 4

79. Which of the following shouwld be the FOURTH
sentence of the given paragraph?

(11 25
(36 (4) 2
(5 3

80. Which of the fullowing should be the SECOND
sentence of the glven paragraph?

(13 [2):2
(3) 8 (4 1
(5) 4
81. Which of the following should ke the FIFTH sentence
of tha given paragraph?
13 2y 2
31 (4 5
{9) 6
82. Which of the following should be the LAST sentence
of the given paragraph?
(131 2 2
(31 3 4) 4
{5} 5
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Directlons (Q. 83-90}: In the following passage, some of
the words have been left out. First read the passage aver
and try to understand what it iz about. Than fill in the
blanks with the help of the alternatives given.

Psychological disorders, also _ (B3] io as mental
disorders, are abnormalities of the mind that _ (84} in
persistent behaviour patterns that can seriously affect your
day-to-day functioning and life. Many different psychological
disorders have been identified and classified, including
eating discrders, such as anorexia nervosa; mood disorders,
such as depression; personality disorders, such as antisocial
personality disorder; psychotic  disorders, such as
schizophrenia; sexual disorders, such as sexual dysfunction;
and others. Multiple psychological disorders may __(88)__ in
one person.

The specific causes of psychalogical disorders are not known,
but contributing factors may include chemical imbalances in
the brain, childhood experiences, heredity, illnesses, prenatal
exposures, and stress. Some disorders, such as borderiine
personality and depression ooccur _ {86) freguently in
women. Qthers, such as intermittent eaplosive disorder angd
substence abuse sre more comman in men. Still other
disorders, such as bipolar disorder and schizophrenia affect
men and women in raughly _ {87)__ proportions.

When @ person experiences mood or cognitive _ {88)  or
behavioural issues for a long time, a psychological evaluatidn
may be beneficial, and & diagnosis of a psychalogical
disorder may follow. Treatment frequently invelves
psychotherapy to work on behaviours, skift develobment, and
thought process. A person may be hospitalized for the
coexisting medical problems, sertous complications, severe
disorders, or __{8%)__ abuse. Megicutons can be ouite
helpful for some psychological disarders.

Properly treated people whe ’Tﬁ’?&‘ paychelogical disorders
often improve; however, _ {90}  are possible. Left
untreated, some psychological problems can fead fo
academic, legat, sadial and work problems. Alcohol polsoning,
drug overdose, suicide, and violent behaviour are other
potential complications.

83.
i1) known {2y referred
3} asked 4} called
(5} mentioned

B4,
{1} result {2) remark
{3} conclude {4) outcome
{5) execute

85,
{1) exit {2} exite
(3) exists {4} exist
(51 exile
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86.
{1) more {2) much
(3} lot {4} many
(5) alot of

87,
(1) look-alike (2} duplicate
[3) adequate {4} equal
{5) different

88.
{1} advantage (2} problems
{3} assistance i4) solution
{5} help

89.
{1} content i2) atom
{2) substance {4} body
(5) matter :

30.
{1) reforms {2} achievements
{3) progresses {4} relapses
{5) healing

Directlons (§, 91-100}: Identify the error In the sentences
glven below. If there is no error, choose option {5).

91. Theugh the manager (1)/was rude, he (2)/gave us all
{3)/the informations we needed. {4)/No error (5}

'92. He is nat {1}/ahle 1o see (2)/properly as his {3)/glasses
have heen misplaced. {4)/Na error {5}

3. Reflecting on the {1)/unfruitful life she (2)/had lived,
she wished (3)/she was well educated. (4)/No error (5)

8d. The inspector coltected {1)/the papers, glasses and
{2)/cups as the evidence {3)/of the murder. (4)/No
etror (5)

895, She invited the (1)/children, their mothers (2)/and
bought. (3)/wafers for them. (4)/No error (5)

96. Me and Tony {1l)/had gone to (2)/buy new clothes
{3)/for the party. (4)/No error (5}

97. The chief guest will {1)/not be able to cut (2)/the ribbon
as this pair of (3)/scissors need sharpening. (4)/No
error (5}

98. The speaker is (1)/in the habit of {2)/using cliché
phrases, (3}/which irritates everyone. (4)/No error (3}

99. He was told that (1}/he could get admission (2)/in the
college on one {3)/criteria, which was goad marks.
{8)/No error (5}

100. The hamper comprised of {1)}/books, packets coffee
beans, {2)expensive perfumes and other (3)/such
interesting ftems. (4)/No error (5)
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Reasoning

1 (3} Here A< B <D and hence, D >
AandCzE=>Fand hence, C>F.

So, bath the conclusions follow.

2 (Z)HereS=Tand V<5, and so, V
<S3=T,and VET. Now, Q=5 2V,
B0 Q=Y.

Hence, only conclusion | follows.

3. (1) Here A« C2E, and so no direct
relation can be made between A
and E, andsince C =D =€ > F and,
hence, C * F. So, only conclusion |l
foltows.

4. (5)Here L= P < R. Sg, no relation
can be obtained between L and R.
Also, Q>»L>FP<Es0(Q>»P2E
and so no relation can be obtained
hetween E and

Hence, neither conclusion | nor |l is
true.

5 (M HereAzBzDandDzH soA>

H
Hence, either H is less than or
equal to A,

For {Q. 8-10}

P Lasshadweep !
2 Manadewsa
R Delhi . :1
5 Surat -
W Habul
X Chandigarh a2
Y Qdishsa
z Rann pur
%
P)/_*\\(Y
/ A

\
z ~}-0
| /

//R
e

6. (4) According to  the above
arrangement, Y belongs to Cdisha,

7. (1) According to the above
arrangement, P's pasition is third to
the right of Q.

8. (4) When oounted in the anti-
clockwise direction from X, there
are 6 friends sitting between X and
Y.

9. (2} Z helongs to Rampur. Therefore,
option {2} is wrong.

10. (3! According to the above
arrangement, S is sitting facing the
friend from Qdisha.

11 (2) Since some pencils are pens, it
means some pencils are not pens,
So, only conclusion Ul follows as
shown below in the Venn diagram.

Penciis

Quadrilaterai

\\Square

In ihe above Venn diagram, the
possibility of aft the pentagons
being squares and some hexagons
nol being gquadrilaterals is shown.

13, (4)

‘
Tralley

‘] 8-"i8‘f0858) Luggage
w.,.—«/

As shown above. neither conclusicn
Fnor |l follows.

14. (1)

As shown .above in the WYenn
diagram, conclusion { foliows.

15. (4}

in the Venn
conciusions

As shown above

diagram, none of

follows.
For {Q. 16-18):

The positions are shown below in the
diagram:

N
M
5 a0 m “
ey F
w2 & P g i
A ) PR =
Sl i d10m
i E:
i o
Vo T
Yy0
W
5

16, (2) Distance between P and T as
shown above i5, (30 -10-~-7)m =
13m

17. (1) As shown in Lhe above diagram,
U is in the North-West direction with
respect to Q.

18, (3) As shown in above diagram,
distance between P and S is, {30 -
10ym=20m



For (Q. 19-23):

9 o North

|
v
&

19,

20.

21

22,
23. (4)B is standing third to the right of

45 m
o

I Y A
A
B *C A South

(9} As shown in the standing
arrangement, P, Q, R and D are
standing facing towards north.

{4) As shown in arrangement, A and
S are facing in the same direction,
that is south.

{3} P is standing second to the left
af B,

{2) A is standing between P and Q.

Al

For (Q. 24-28):

In-1
nlews

s GENSTHAON 80
Male
Ferate

I e +
/.-HD ¥ Gisters
AT '\?‘; B Q Marriad coases

-

o

-

G

24, (2} According fo the arrange -ent, A&

is the aunt of G,

25. (4) Accordirg to the arrangement, F

26.

For {Q. 27-23)

is the moth: ~in-law of B.

{5} Mare information is needed to
answer this guestion. So, it cannot
be determined.

P 1 x= 70
A 2 X=70
Q 3 S0 =x>70
R 4 5} =x>70
B 5 x=50
B G x< 50

29.

{4} Range of weighis of Qand R is
50 kg = x = 70 kg and weight of §
must be greater than that of R. So,
(¢ may be 65 kg and R may be 60
kg

For {(). 30-35):

The combination is as shown below.

27. (4) According to the arrangemenl,

28,

weight of P must be greater than 70
K.
(3} § is the lightest among alt and
he must have weight less than 50
kg

C
P 3 Red
A 3 Blue
5 a Gresn
R 3 Yellow Fal
B 2 Golden
Q 1 Pink
30. (1) R has a yeltow-coloured car.
31. (2} B has a golden-coloursd car.
32. (2] Calours of cars of floor numbers

33.

34.
35.

7 and 1 are brown and gink
respectively.

{51 According to the combination, Q
lives on the ground floor and has a
pink-coloured car and R has a
yellow-coloured car and lives on
floor number 3.

{3) P has a red-coloured car.

{1} Alives on floor number 5.

Quantitative Aptitude

36.

37,

(4} Total
potatoss is:

(260 -~ 225) + (380 - 325) + (340
- 300)

=25+ 58 + 40
=120

quantity of |low-quality

{1} Total guantity of poor-quality
patatoes of farmer B is (00 - 760)
+ ({625 - BBO; + (580 - 540y =135

So, the required percentage is:

135

- x 100
425+ 460+ 675

_ 135
1560

%100 =8.65%

38.

39.

41

42.
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{(3) Average number of pood-quality
potatoes obtained in 2015 was:

325+589_+t__1@=455
3
(2} Total quantity of potatoes

obtained by farmer A is 250 + 380
+ 340 =970

Total guantity of potatoes obtained
by B and C (BOOQ + 625 + 530 +
{440 + 500 + 672) = 3627

50, the required percentage is:

970 100=26.75%= 25%
3627
(4] Total quantity of potatoes

obtained in 2014 is 250 + 800 +
440 = 1490

Total quantity of potatoes abtained
in 2015 and 2016 (380 + 625 +
500) + {340 + 590 + 672) = 3107

So, the required percentage is:

1490
3107

« 100 - A7 .96% ~ 48%

(2) The numbers between 1 and
100 that are divisible by 9§ are 9,
18, 27, 36, 45, 54, 63, 72, 81, 90
and 99. 5o, the required probability
o B
[

100
{5} Here (20 = 25) men = (40 x 25)
women

1 man = 2 women

Se, 10 men + 20 women = 40

women

So, 10 men and 20 women can
complete the work in 25 days.

{3} Let length and breadth of the
rectangle  be  8x  and By
respectively. So, the sidedength of
the square is Bx. Now,

Ax6x+10 =2{8x +5x) = 26x
x=5

5o, breadth of the rectangle is 5 x
5 =25 units
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44, {3) Let amounts invested by P and
Q be T x and T (14000 - X
respectively. Now,
xX2x2 (14000 -x)x5x2

100 100

4x =10(14000-x)

¥ =7 10000

45. (4} Let v1 and vz be the speeds of
faster and slower trains,
respectively and d be the length of
both the trains. Now, when
traveiling in the opposite directions:

29 _10=52d=10(v, +v,)
ViRV,
When travelling in the samc

direction,

I TP L /) I
¥y — Vs ¥, =V,
(vi+va) =7 (Ve - v2)

Eva=8v2

viive=8:6

4€. (5)

ar. (1)

ar2
——— i
=3 w2 =3 xZ *3

48, {4
[e52,

O
CLE

314
—
wBAZ

4 10 32 130

e i ey
w212 =3-2 w4 Z

43. (2

2 G 15 64
st s
w3 3 ad+d

gt
H#E+G

S E£h§ﬁ§

s et —_—
¥2+2 «0-5

1 2 4] 15

EV

.. S S ;
+12 24 -3% +47 +52
81. {1} Required percent is:

55 -50 100 == x100=10%
50 50

52, (3) Let the shop keeper bought 1 kg
of each of the types. Cost price for
the shop keeper was 45 + 50

85,

57.

59.

= ¥ 95, Salling price will be 2 x 50
=¥ 100. S0, the profit percentage
will be:

10095 6=

S oy
95

{1) Ratio of sum of rate of prices of
type A rice in 2011 and 2015 to

that in 2014 and 2016 is,

50+45 95 19
50+85 1156 23
{4) As shown in the line chart. bive

line remains above the red line in
2013, 2014 and 20186.

{4) Average price for type A is
B +55+60+501 45+65 =325
6 6

Average price for type B 8

8 &

Therefore, there is no difference
between the average rate of type A
and type B in &l the six years.

{3) Hera 3% - 11x+ 6 =(3x - 2)
2

(x — 3) =0 and, hence, x=-3-0r3

Now,y2 - 9y + 20 = (y - 4} {y - B}

=0, y=darh

S0,y > %

{4) Here x2 - 25 = {x — B} (x + 5}
=0, x=50r-95

Now, y2 - 11y + 30=(y- 5 {y - 6)
=, x=5oB

Hence, x<y
{(2) Here 25x2 + 5x - 2= (5x - 1)
(5x + 2) = 0, and, hence,
2 1
X === —
575

Also, 35y2 +9y — 2 ={7y - 1) (by +

2 1
2} =0, and, hence,y =——0r -
} n ¥ 57

Hence, x=y

{5} Here x2 - Sx=x{x -5 =0,80%
=0orb

Also,y(5 -y)=0,scy=00r5

Hence, x=y

0.

61

63.

{1} Here 25x2 - 25x + 6 = (Bx - 2)

2 3
By = =0, ="or—
{Bx - 3 sS0X OF

Also, 49vz - 4 = Ty + 2) (Ty - 2}
2 2
=Q,50y=——0r—
T 7

Hence, x >y

{3} Let the maximum marks be x
Acecording to the question:
0.2x+5=03x-20

x =250

Marks required far passing = 0.2 x
250+ 5

=55

Percentage of passing marks
= —53 ® 100 = 229,
250

{2) Let cost price of 1 kg of the
preduct be T 100. Marked price
is T 130. Price after discount is
T 130 -T 26)=T 104

Cost price of 900 grams is T 80. Se,
the net profit percentage is:

104-90 400-1556%
a0

. T2
{5) Water in first mixture is 5

= 24 litres and milk is 72«—2% =48
litres. In the iast mixture, quantity of

water Is 24—2—34- = 16 litres and

that of milk is 48—% = 32 litres.

So, the required ratio of water to
mitk 8:

24_3

32 4

{2} Let the initial investments of P,
Qand R be T 2x, T 3x and T 4
respectively. Investment of P in 12
months is (12 x 2x + 6 x x = 30x},
investment of Qis {12 x 3x + B x X
= 42x) and investment of R is (6 x
Ax + B = 3x = 42x). So, the rati¢ of
profits of P, Qand Ris 30:42:42,
thatis 15:24: 21
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85. (3) Sum of total weights of the class
of 30 students is 1500 kg. Actual
total weight is:

1500 ~ 55 + é5 - 45 + 35
= 1500 kg

So, the average weight remains the
saime, i.e., 50 kg

66. (2) 56.5% of 240 + 75.26% of 450
= 135.6+338.625=474.225

% of 280 + 337.725 = 474,225
29 of 280 = 136.5
24875

67. (4} v0.64x0.81 o{%

=D.8x0.9xﬂ-
72

=2t g
100

289 ?

o8 M =1755

= 7? =50736.84
? = 22505
326 s

69, (1100 __..
1245

=15

70. 15) 1222, 105, 222
100 100

% 321

=150675+ 72225 =87.2925
English Language

T1. (3) Refer to the line: "Since the
proposal involved refarm,/
restructuring of not anly indirect
taxes levied by the Central but also
the States, the responsibility of
preparing a Design and Road Map
for the implementation of GST was
assigned to  the Empowered
Committee of State Finance
Ministers (ECL."

72, (58) Refer ko the kinc: "Based an
inputs from Gol and States, The EC
released its First Discussion Paper
on Goods and Serviges Tax in India
on 10 November, 2009 with the
objective of generating a debate
and obtaining inputs from alt
stakeholders."

73. {2) The EC released its first
discussion paper on Goods and
Services Tax in Indis on 10
November, 2009.

T4. (4) No medical tax has been
mentioned in the passage.

75. {2) Refer to the ling: "Under this
model, GST has two componeants,
viz. the Central GST to be levied and
collected by the Centre and the
State GST to he levied and

collected by the respective States.”

76. (1) Refer to the ling: "In order
to take the GSTrelated work

further, a Joint Working Group

consisting of officers from Central
as well as Stale Governments was
canstituted.”

77. (4} Refer to the line: "The GST is.a
Value Added Tax (VAT proposed to
be a comprehensive indirect tax
levied on manufacture, sale and
consumption of goods as wel as
services af the nationat level ”

Explanation (4. 78-82):

The person being referred to in this
paragraph is Gregar, who is introduced in
sentence 4. Thus, 4 will be the first
sentence of the senquence. This will be
followed by sentence &, which explains
the only time when Gregor ate. Now, the
pronoun it in sentence 1 refers to the
bite Gregor takes and 'there’ refers to his
mouth. Thus, sentence 1 will follow
sentence 3. The probable reason for his
eating disordes is mentioned in sentence
5. Sentence 3 explains what is meant by
'state of his ropm' as mentioned in
sentence 5. Thus, sentence 3 will Tollow
sentence 5 and sentence 2 will be the
last sentence of the seguence. Thus, the
correct sequence is 461532

78. (5) After rearrangement, the first
sentence of the sequence s found
tobe 4,

79. (5) After rearrangement, the fourth
sentence of the sequence is found

to be 5.

80. {3) After rearrangement, the second
sentence of the sequence is found
to be 6.

B1

82.

84.

85.

86.

87.

88.

89.

90.

91.

92,

93,

94,
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(1) After rearrangemeant, the fifth
sentence of the sequence is found
tahe 3.

{2) After rearrangement, the last
sentence of the seguence is found
to he 2.

(2) To

is used after the verb
'referred". ;

{1} Here the consequence of
psychological disorders is being
given, Thus, result' will fit the blank
appropriately,

{4) Here ‘exist, which means to
prevail, will fill the blank. Also, since
the plural subject requires a plurai
verb, 'exists' cannot be used.

{1) Hera a comparison is given.
Some disorders are more in women
than in men. Thus, ‘'maore’ will fit the
blank.

{4} The previous sentences mention
problems affecting women and men
it different propoertions. Thus, since
hoth men and women have been
mentioned  in this  sentence,
probahly the 'sguality’ of
proportions is being talked about.

(2) Since the next phrase mentions
an fssue, out of the given options,
only 'problems’ will give a similar
ides.

{3) 'Substance abuse’ refers to drug
abuse.

4y 'However introduces a
cantradictory clause. In the present
case, ‘'relapses' will contradict
improves’,

(4} Information is an uncountable
noun. 1t does nol have a plural
form,

{&y There
sentence.

s no error in this
{4} Subjunctive is used when the
varb foltows ‘wish’ or 'if' while taking
about situations that are not true.
Thus, ‘'were’ should be used here
instead of ‘was'.

(&) There
sentence.

i no error in this
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